
3RD ANGLE PROJECTION

 370 

A

A

 453.4 

SECTION A-A

ISOMETRIC VIEW

NOTES:  UNLESS OTHERWISE DETAILED

GEOMETRY AND OTHER DETAILS NOT PROVIDED HERE SHALL BE DERIVED FROM PROVIDED 3D CAD MODEL:  GATPAL-ABA-000-GATTINI H2RG IR DETECTOR ASSEMBLY, REV: A1.
DERIVED DIMENSIONS SHALL ORIGINATE FROM DATUMS: A B C  2.
DERIVED DIMENSIONS ARE SUBJECT TO THE TOLERANCES ON THIS SHEET.3.
3D FILE REVISION TO BE EQUAL TO THIS 2D DRAWING.4.

TORQUE TO 1.2NM.5.

TORQUE TO 0.5NM6.

TAG WITH PART NUMBER AND REVISION.7.

 

 

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

A INITIAL RELEASE 5/26/2017 Alex Delacroix

ITEM NO. QTY PART NUMBER DESCRIPTION MATERIAL VENDOR

19 3 9712K64 Belleville Disc Spring, 0.255" Minimum ID, 0.5" Maximum OD, 0.038" Thick Plain Carbon Steel McMaster-Carr

18 6 GATPAL-ABA-00B SHIM 0.5" OD, 0.253" ID, 0.0465" THICK NOMINAL AISI 4140 Steel machined part

17 3 GATPAL-ABA-00A DIFFERENTIAL SCREW 1/4-27 - 1/4-28 AISI 1045 Steel MACHINED PART

16 6 91290A154 SOCKET HEAD CAP SCREW M4 X 0.7 X 16 CLASS  12.9, ALLOY STEEL, BLACK OXIDE Alloy Steel McMaster-Carr

15 2 91292A112 Socket Head Cap Screw, M3 X 8 mm 18-8 Stainless Steel McMaster-Carr

14 3 91292A114 Socket Head cap Screw, M3-0.5 x 12 mm, DIN912-A2 18-8 Stainless Steel McMaster-Carr

13 5 91477A121 BELLEVILLE SPRING LOCK WASHER, M3, 3.2mm ID, 7mm OD, .6mm Thk, 18-8 SS 18-8 Stainless Steel McMaster-Carr
12 1 GATPAL-ABA-00C DETECTOR COLD SOURCE Copper, UNS C10100 MACHINED PART

11 8 96006A690 Socket Head Cap Screw #10-32 x .5in Lg, SST, Blaack Oxide 18-8 Stainless Steel McMaster-Carr

10 1 1100-ZTF6100 POLYCOLD PCC HP ASSEMBLY

9 1 1100-ZTF6200 CHARCOAL GETTER ASSEMBLY

8 1 GATPAL-ABA-B00 CRYOSTAT PORTS ASSEMBLY SEE BOM ASSEMBLY

7 1 91292A118 Socket Head Cap Screw, M4 x 16 mm 18-8 Stainless Steel McMaster-Carr

6 11 93235A333 Socket Head Cap Screw, M4 x 10 mm, vented 18-8 Stainless Steel McMaster-Carr

5 18 91477A141 BELLEVILLE SPRING LOCK WASHER, M4, 4.3mm ID, 9mm OD, 1mm Thk, 18-8 SS 18-8 Stainless Steel McMaster-Carr

4 1 GATPAL-ABA-D00 DETECTOR COLD FINGER ASSEMBLY SEE BOM WELDMENT

3 1 GATPAL-ABA-C00 VIB ASSEMBLY G-10 Glass Epoxy Laminat TBD

2 3 9464K624 O-RING 2-362, 3/16W X 6.25 ID X 6.625 OD, SHORE 75A Viton Fluoroelastomer Mc Master-Carr

1 1 GATPAL-ABA-A00 DETECTOR-INTERFACE ASSEMBLY SEE BOM ASSEMBLY

D

C

B

AA

B

C

D

SIZE DWG.  NO.

D
REV

DATE NAME

DRAWN

CHECKED

ENG APPR.

MFG APPR.

MATERIAL

FINISH
SEE BOM

"Finish"
DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

12345678

8 7 6 5 4 3 2 1

E

F

E

F

UNLESS OTHERWISE SPECIFIED:

Q.A.

TITLE:

SCALE: 1:2 SHEET 1 OF 6WT (KG.):

INTERPRET GEOMETRIC TOLERANCING
PER: ASME Y14.5M-1994 (R2002)

ARE
V

G
A

TP
A

L-
A

BA
-0

00
D

CRYOSTAT ASSEMBLY

Alex Delacroix"Created Date"

GATTINI IR

10.90

GATPAL-ABA-000
GATPAL-AB0-000

TELESCOPE TUBE ASSEMBLY

A
GATTINI

xxx Roger Smith

xxx Anna Moore

DIMENSIONS ARE IN MM
TOLERANCES:
ANGULAR: MACH 0.50
                   BEND 1.0
LINEAR:
0-100:     0.10      
OVER 100: 0.001/mm 

California Institute of Technology
Caltech Optical Observatories

Roger Smithxxx



REVDWG.  NO.

D
SIZE

TITLE:

CALIFORNIA INSTITUTE OF TECHNOLOGY
CALTECH OPTICAL OBSERVATORIES

AGATPAL-ABA-000

SCALE: 2:3 SHEET 2 OF 6

1

4

5

6

7

5

STEP 1

3

2

X6
6

9

5 5X

6 5X

10

118X

8

12

135X

143X

152X

STEP 2
6

6

6

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ARE
V

G
A

TP
A

L-
A

BA
-0

00
D

TELESCOPE TUBE ASSEMBLY

CRYOSTAT ASSEMBLY



REVDWG.  NO.

D
SIZE

TITLE:

CALIFORNIA INSTITUTE OF TECHNOLOGY
CALTECH OPTICAL OBSERVATORIES

AGATPAL-ABA-000

SCALE: 2:3 SHEET 3 OF 6

STEP 3

2

16

5

17

3X

18

19

18

X6

7

STEP 4

5

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ARE
V

G
A

TP
A

L-
A

BA
-0

00
D

TELESCOPE TUBE ASSEMBLY

CRYOSTAT ASSEMBLY



REVDWG.  NO.

D
SIZE

TITLE:

CALIFORNIA INSTITUTE OF TECHNOLOGY
CALTECH OPTICAL OBSERVATORIES

AGATPAL-ABA-000

SCALE: 2:3 SHEET 4 OF 6

D

D

C

78
Interface Plate

 3.454 Spacers 

 17.150 Interface Plate 43.603
Bipod Height

28.494
Housing

58.500
Bipod length

3 SURFACES
A

28.494
Housing

30.127
Flexures

10
Detector Mount

40.954
Detector - Interface

2.70
(Detector - Filter)

18.5
Detector - Window

11.620
Detector

SECTION D-D
SCALE 1 : 1

B

CONDITION: 293K

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ARE
V

G
A

TP
A

L-
A

BA
-0

00
D

TELESCOPE TUBE ASSEMBLY

CRYOSTAT ASSEMBLY



REVDWG.  NO.

D
SIZE

TITLE:

CALIFORNIA INSTITUTE OF TECHNOLOGY
CALTECH OPTICAL OBSERVATORIES

AGATPAL-ABA-000

SCALE: 2:3 SHEET 5 OF 6

B

B

C

 3.453 Spacers 
77.996

Interface Plate

58.445
Bipods Length

43.531
Bipods Height

 28.348 Housing 

 17.149 Interface Plate 

3 SURFACES
A

28.348
Housing

29.973
Flexures

9.989
Detector Mount

11.607
Detector

40.912
Detector - Interface

SECTION B-B
SCALE 1 : 1

B

CONDITION: DETECTOR COOLED TO 80K WITHIN 293K AMBIENT

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

A INITIAL RELEASE

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ARE
V

G
A

TP
A

L-
A

BA
-0

00
D

TELESCOPE TUBE ASSEMBLY

CRYOSTAT ASSEMBLY



REVDWG.  NO.

D
SIZE

TITLE:

CALIFORNIA INSTITUTE OF TECHNOLOGY
CALTECH OPTICAL OBSERVATORIES

AGATPAL-ABA-000

SCALE: 2:3 SHEET 6 OF 6

C

C

C

58.440
Bipods Length

77.940
Interface Plate

 3.447 Spacers 

43.550
Bipods Height

28.348
Housing

 17.137 Interface Plate 

3 SURFACES
A

28.348
Housing

29.973
Flexures

9.989
Detector Mount

11.607
Detector

40.913 
Interface - Detector

SECTION C-C
SCALE 1 : 1

B

CONDITION: DETECTOR COOLED TO 80K WITHIN 263K AMBIENT

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

ARE
V

G
A

TP
A

L-
A

BA
-0

00
D

TELESCOPE TUBE ASSEMBLY

CRYOSTAT ASSEMBLY


	Sheet1
	Drawing View57
	Drawing View76
	Section View A-A

	Sheet2
	Drawing View79
	Drawing View80

	Sheet3
	Drawing View84
	Drawing View101

	Sheet 4
	Drawing View91
	Drawing View92
	Section View D-D

	Sheet 5
	Drawing View94
	Drawing View96
	Section View B-B

	Sheet 6
	Drawing View97
	Drawing View99
	Section View C-C


